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LIKE TERMS . 2.1.2and 2.1.3
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Problems

Combine the following sets of terms.

1. (224 6x+ 10) + (4x2 + 2x + 3) 2. B2 4x+d)+(2+4x+7)
3. (82 +3)+(4x2+5x+4) 4. (4x2 +6x+5)—(3x2+ 2 +4)
5. @42-Tx+3)+ (22 -2x-5) 6. (3x2—7Tx)— (24 3x-9)
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Problems

For each of the problems below, use the strategies of removing zeros or simplifying
by removing balanced sets to determine which side is greater, if possible. Record your steps.

1. Left Right 2. Left Right
+ + +[x +
X X
x ‘Which
i - St e R O
greater? 9 x
= H | x greater? - i
3. Left Right 4. Left: 5+(-8)
T T Right: =7 +6
| |x x| [«
Which 5. Left: 2(x+3)-2
i Right: dx—2-x+4
_ — o _ 6. Left: 4+ (=2x) + 4x
Right: * +2x+3 —x?
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2.1.8 and 2.1.9
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Problems

Solve each equation.

1.
3.
5.
7.
9.

11.
13.
15.

17.

2x-3=-x+3
4-3x=2x-6
—(x+3)=2x-6
—-x+3=10
4y-8-2y=4
2x-T=-x-1
=Bx+T7=x-1

2x—1-1=x-3-(-5+x)

10=x+6+2x

1+3x—x=x—-4+2x
34+3x—(x=2)=3x+4
—4+3x—1=2x+1+2x
Sx=3+2x=x+7+6x
9-(1-3y)=4+y-(3-y)
2-3x=x-2-4x
1+2x—-4=-3—-(-x)
—4x—-3=x-1-5x

—(x=2)=x-5-3x




